0.5

Efficiency vs hit

efficiency vs hits

Ratio

|
|
| '"ﬂ WN"" "”IVNWWW EWH’
AR et

TP hits

80

—=— DQM_original_step2_tthar-phasel-newgeom
—e— DQM_pixelCPE_step2_ttbar-phasel-newgeom
[Efficienc] —— DQM_pixelCPEChi20R_step2_ttbar-phasel-newgeom

yers

0.5

a)
o
S
> o
I
.
H
T

efficiency vs |

4+

0 5 10 15 20 25
TP layers

0
Z0.18F+
Zo.16F
o F
©0.14F

yers

Ratio
-

0
Z0.18F i
Qo.16F--:
>0.145
So.12f
o1
0.085
0.06F i
0.04F--1
o.ozf

ers

3D la

efficiency

.0F

r() 2 4 6 8 101214161820
TP 3D layers

Ratio




	Contents
	Page 1


